[ normalized x? probability |

chiz chiz_prob
- Entries 83984 Entries 83984
107Y - Mean 1.066 Mean 05388
: Std Dev 1.196 + [ stdDev 0.3104
. . . 0.07 -
o chiz PR
oL Entries 91535 _[Entes 91535
10 E Mean 1154 0.06 T 7 | mean 0.4883
E Std Dev 1.099 Std Dev 0.3215
I chiz 0.05 chiZ_prob
10°F Entries 57523 Entries 57523
F Mean 1215 .. [ Mean 0.4665
F Std Dev 0.04 Std Dev 0.3227
107F 0.03
I 0.02
-5
10

<] <]
=] =
g 15F - 4P - e ek e e ae s §
bl
0.5 o3 x
0 2 4 6 8 10 12 14 16 18 20 8510203 040506070809 1

X? Prob(x?)

< x2/ndf >

Ly .
. [ == DQM_CKF_TTbarPU

s DQM_mkFit_TTbharPU-noDNN-baseline
« | m—DQM_mkFit_TTbarPU-noDNN-fix

TR LR T

i ORI
w2 ..ﬁ..i...i..i_ﬂ*__

A \H‘” ﬁt{;tﬂ
!

Ratio

-

< x2/ ndf >
< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

107 1072

-1
AR(track, jeltS)



	Contents
	Page 1


